e 20201350101
ksl APEX DYNAMICS, INC.

mE R K E(MDKC %31)

T 58 B E BRI RS - WA HBERBRE L E AEEREREE  EBFEHER
BRERES - HIHRREAHEERT,

a. MTEELRECR - & EmrEwm B BRAEEMOLRT
b. WELE » BLETER - 201 T HE (bt s RaR gk )

ROEASE  URMANE (R—) BRI A —
NEZ 5% & 1~4 QB » FIRT 8 28 e L R
FELE I -

AN
1S BEEBRM B TTER 0 UIRMB LR (R—)
BEoHNB IK1~4WER » BHRORFZIRELM
P8R -




ER=zuzgsmrgss |

R ANABERS | BESSEBACHER L | BE100B4HER YD | WE1290E4ZHBRH
" [mm] [Nm] [In-lbs] [Nm] [In-lbs] [Nm] [In-lbs]
M3 x 0.5P 2.5 1.3 12 1.8 16 2.1 19
M4 x 0.7P 3 3 27 4.1 37 4.9 44
M5 x 0.8P 4 6.1 55 8.2 73 9.8 87
M6 x 1P 5 11 98 14 124 17 151
M8 x 1.25P 6 25 222 34 302 41 364
M10 x 1.5P 8 49 434 67 594 80 709
M12 x 1.75P 10 85 753 116 1028 139 1232
M14 x 2P 12 137 1214 186 1648 223 1976
M16 x 2P 14 210 1860 286 2534 343 3038
ERE-zuzaugsarzas]
Hig @ (C3) 8 11 14 19 24 28 32 35 38 42 48 55 60
MDKCO064| &£ M5 | M5 | M5 | M6 - - - - - - - - -
3] - M6 | M6 | M8 | M10 - - - - - - . .
MDKC090
=g M5 | M5 | M5 | M6 - - - - - - - - -
3] - - - M8 | M10 | M10 | M10 | M12 | M12 - - - -
MDKC110
=t - - M6 | M8 | M10 - - - - - - - -
- 3-0] - - - - M10 | M10 | M10 | M12 | M12 | M12 | M16 - -
MDKC140
=t - - - M8 | M10 | M10 | M10 | M12 | M12 - - - -
- 3-0] - - - - - - M10 | M12 | M12 | M12 | M16 - -
MDKC200
=g - - - - M10 | M10 | M10 | M12 | M12 | M12 | M16 - -
-4:0) - - - - - - - M12 | M12 | M12 | M16 | M16 -
MDKC255
= - - - - - - M10 | M12 | M12 | M12 | M16 - -
401 - - - - - - - M12 | M12 | M12 | M16 | M16 | M16
MDKC285
=& - - - - - - - M12 | M12 | M12 | M16 - -
MDKC355| = - - - - - - - - M12 | M12 | M16 | M16 -
MDKC450] = - - - - - - - - - M12 | M16 | M16 | M16
BHRST [mm] M5 x 0.8P M6 x 1P M8 x1.25P | M10x1.5P | M12x1.75P| M16 x 2P
ANBBERST [mm] 4 5 6 8 10 14
[Nm] 9.8 17 41 80 139 343
RRED [In-lbs] 87 151 364 709 1232 3038

R BETRER , THHRENSEMN EMEREZ20% ,

* K %

*: *
* *

¥ APEX DYNAMICS, INC.

40763 AT EEERIE =105

Tel:886-4-24650219

| Fax:886-4-24650118

sales@apexdyna.com | http://www.apexdyna.com

BB EiTE,

APEX-2023-10-01




	頁面 1
	頁面 2

